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Listening Comprehension

v BT

Section A Conversations  (1997. 6)

Directions: In this section, you will hear 10 short conversations. At the end of the
conversation, a question will be asked about what was said. Both the conversation
and the question will be spoken only once. After each question there will be a
pause. During the pause, you must read the four choices marked A, B, C, and
D and decide which is the best answer. Then mark the corresponding letter on the
Answer Sheet with a single line through the center. :

Example:You will hear.

M:Is it possible for you to work late, Miss Green?

W:Work late? I suppose so, if you really think it is necessary.

Q: Where do you think this conversation most probably took

place?
You will read.

A. At the office.

B. In the waiting room.

C. At the airport.

D. In a restaurant.
From the conversation we know that the two were talking about some work they had to
finish in the evening. This is most likely to have taken place at the of fice. Therefore, A.
At the of fice. is the best answer. You should choose [A] on the Answer Sheet and mark
it with a single line through the centre.

Sample Answer [A] [B] [c] D]

A. Skating. B. Swimming.
C. Boating and swimming. D. Boating and skating.
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M :Boating and skating are my favorite sports.

W.I like swimming but not boating or skating.

Q: Which sport does the woman like?

[(ERZEX] XBEDHCH. FRERAFERRARERLBE T skating A

. swimming X MARNEF.

[EmMER] _B

[(RER ] MNEX@FBLeMT. EAZLRAAAB. Swimming. % # 4 4& 5 ##
HBGRAIANRB X EEIN N INERRA RGO RLELHFE, TRA
XA LR EGET, R MAH, % the man FHAEN, REKE
RAH LY EREEBNG AT HEF,HEEM, AF theman, REE
the woman JF %4 # B4 B i £ XA LX) o R WA B S BT, A2 b
W, £ % the woman, Z B £+ 5 PSR FIM L, FRUEHikMEE,

A. Put her report on his desk.

B. Read some papers he recommended.
C. Improve some parts of her paper.
D. Mail her report to the publisher.

£+ £

W:Have you finished reading my research report? I put it on your desk last week.

M:Yes, but you have to revise some parts of it, I'm afraid, if you want to get it published.

Q:What does the man suggest that the woman should do?

(Rt 2€ X1 364 D M. KA R EA 8L BIF revise, 3+ H 4185 1B the man 35
W AN RGES.

[(EmEFR] C ,

[(RRE] MRALEAPEET LGB, EAXEDRAC. Improve some
parts of her paper. X FMA WA A TR TAKA L, FA R E X2 her, 2t
R R paper #= report, ! WA A FAARE S E M, ZRMAT 4, KA B i M
#» the man ML K # K the woman £MH FH AL REBEHE T4
# A A X the woman £ Hid f TATAE e FH, B BR AR, AHAD
R e B X458 EWT . RA&FA C. Improve some parts of her paper. % 2t
J& X #) revise some parts of it #9 % — P AR, AR ERAER,

A. She takes it as a kind of exercise.

B. She wants to save money.
C. She loves doing anything that is new.

D. Her office isn’t very far.
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M :Hi, Susan. I hear that you walk all the way to the office these days.
W:Yes, I have found great pleasure in walking. That’s the type of exercise I enjoy very
much.

Q:Why does the woman walk all the way to the office?

(R 2@ X) 3% D Wi, LBk Her office isn’t very far. ER X B ERLE, AER N
BETEHERAIBOSPLZRNE CRERAERIEBEECHERRHE
HIEH EMAIH BT,

(ERER] A

(AR ] MABLENRES . ERAZEALF A, She takes it as a kind of exercise,
P F 2 2F R X “That’s the type of exercise I enjoy very much”# % —# &
X, #FBCDARLPAE AR,

@ A. A shop assistant. B. A telephone operator.
C. A waitress. D. A clerk.
L & . T4

M:How about the food T ordered? I've been waiting for twenty minutes already.

W :Very sorry, sir. I'll be back with your order in a minute.

Q:What’s the woman’s job?

(H 268 B]1 ZEBHOTRESR. BEEROFETHERARE AN SR 4 HAY
BRRAMABEMGHRZEBXER ., WL A. A shop assistant. FhW ik
BERRT, KB R+ KA R KR, 2Kk R 25
MWEBIARMF ;BT B. A telephone operator. RS % BB R #h 4 i1 1%,
HERBHES BIWD. Aclek. RUABSEILBSHE, ZBHHALE
ENENRIPBBRAS R, FUBFRER.

[(ERBHXEER] _C

[BER] ML HFAM, oX LS 7 the man 3 i ¥ 6 food # order, L& the
woman % P £ H49. . . be back with your order... $t A&t 4L % i
BERAELHF C. A waitress,

A. A railway porter. B. A taxi driver.
C. A bus conductor. D. A postal clerk.
4 AL

W :Excuse me, sir. I'm going to send this parcel to London. What’s the postage for it?

M:Let me see. It’s one pound and fifty.

Q:Who is the woman most probably speaking to?

[ER2€E E) RBHTRERK, BAEE RN EER RS w048 X214 8
XSRS T BB R . '
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[(E®XRX]1 _D

[ERA] RN SANSH ZART P OO OEMEMN. HLRTEEP
the woman 3% 3% P i 3 ) % 4% i) send this parcel (% & ) # postage (¥
#)sthe man HEH A THARGAR  REEFAERFAGHTR LR
#iX the man ) B AT VA LR E R L4 M D. A postal clerk. ., B F
JPEFMERRLTERAHOAAERALRAR,
@ A. Most people killed in traffic accidents are heavy drinkers.
B. She doesn’t agree with the man.
C. Drunk drivers are not guilty.

D. People should pay more attention to the danger of drunk driving.

XHAEX

M:I think it’s high time we turned our attention to the danger of drunk driving now.

W:I can’t agree with you more . You see, countless innocent people are killed by drunk

drivers each year.

Q:What does the woman mean?

(MR 2€ XY £+ B. She doesn’t agree with the man. JEH R & A F 1 the woman
TEHRREBIM 1 can’t agree with you more. M& S, BX M RiE RSB
BRIABERET.

[Em¥=XR] D

(S]] HEASERSAGZMAEE S .1 can’t agree with you more. £ 7“&K Ik ¥ #
B AR 65K 557, K G R 4% the man K35 P 5 B Y it’s high time we turned
our attention to the danger of drunk driving (%] 7 &40 B ke iz & 5 3 )
BEBLAMPIM LG4 T)T LA £ie R D. People should pay more
attention to the danger of drunk driving. 2 R X EXLHAE,

A.$ 1.40 B. $ 4.30
C. $ 6.40 D. $ 8.60
&AL

W :Here’s a ten-dollar bill. Give me two tickets for tonight’s show, please.

M :Sure. Two tickets and here’s a dollar forty cents change.

Q:How much does one ticket cost?

(EXZ€ XY #%#D. $ 8.60M, WAEWMBRAEXLT-KENNE.

[ERER] B

[BHEA])] X2 A XM, A the woman 955 P Th M 7 a ten-dollar bill, £
&1 & two tickets, A the man &) #& % T 4= the woman £ T 25X H WX
3k 2 a dollar forty cents, BPik R A. $ 1. 40 A3 5898 B , B LT $
.60 R TAKE  FAAD REAXHNSGALS, S TRFAGE-KEY
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M FAEREFTAAZAB $ 430,
A. Collect papers for the man.

B. Do the typing once again.
C. Check the paper for typing errors.
D. Read the whole newspaper.

A
M Are you sure you’ve corrected all the typing errors in this paper?
W :Perhaps I’d better read it through again.
Q:What’s the woman going to do?
[ 28 XY #%# A. Collect papers for the man. R FEE BB Collect 1
correct XFMARNARFELE T H S EH N, %8 D. Read the whole
newspaper. f& B T ¥ 4 07 paper ZEX B A& X, 48 iR 40 T 24 i
newspaper, M %3 7 Read the whole newspaper. XA EM, %#FE B. Do
the typing once again. R # FRE B the woman FRIENE.,
[(EMER] _C
[RHER] MNEBELREREH, AwAikR STvAK s, M5 paper & typing errors
H %, %4 C. Check the paper for typing errors. B LFEREH K
EAEREE,
@ A. The woman does not want 1o go to the movies.
B. The man is too tired to go to the movies.
C. The woman wants to go to the movies.

D. The man wants to go out for dinner.

AKX

M:Mary, would you like to go to the movies with me after dinner?

W:Well, I'll go if you really want me to, but I"m rather tired.

Q:What can we conclude from this conversation?

[Bi% 2€ X1 #%% C. The woman wants to go to the movies. ERX{ERHER ., %9 D.
The man wants to go out for din\ner. # for dinner R45iR{Z B . T B.
The man is too tired to go to the movies. U 5B LEEHK.

[E®mER] _A

[(RRERP]Y REOMLF D EAHER ZH the movies & want to ¥ Ty
The woman # The man B R 2R B LA LB AL, K P —AATHE L
KT, X8%,882% ¥ T4 4% A. The woman does not want to go to
the movies. 2 ERA X%,
A. By bus. ' B. By bike.
C. By taxi. D. On foot.
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R4 A

M:If I were you, I'd ride a bike to work. Taking a crowded bus during rush hours is really

terrible.

W :Thank you for your advice, but my bike has got a flat tyre.

Q:How would the woman most probably get to work?

(R Z2€ X1 %% B. By bike, R A W R MR X F the woman, i Hithi% T “my bike

has got a flat tyre” (BRI HITERBIET).

[E®mERY A

[(FRES] MEAXBEFX, ERAERALRA A. By bus, A the man #i%% P 7 4o the

woman A& F L3,

Section B Passages (1997.1)

Directions: In this section, you will hear 3 short passages. At the end of each passage, you
will hear some questions. Both the passage and the questions will be spoken only
once. After you hear a question, you will choose the best answer from the Sour
choices marked A, B, C and D. Then mark the corresponding letter on the
Answer Sheet with a single line through the center-.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
A. He wanted to find a place to read his papers.
B. He wanted to kill time before boarding the plane.
C. He felt thirsty and wanted some coffee.
D. He went there to meet his friends.
A. Toys for children.
B. Important documents.

C. Food and coffee.
D. Clothes and scientific papers.

A. The woman took his case on purpose.
B. All his papers had been stolen.

C. He had taken the woman’s case.

D. The woman played a joke on him.

&4 A

I had to go to Amsterdam last week for a conference. I arrived at the airport in plenty
of time and checked in, but I only had one small case so I decided to take it on the plane as
hand luggage. As the flight was not due to board for 45 minutes, I went to a cafe, sat
down, and ordered a cup of coffee.




Part 1 Listening Comprehension e 7

While 1 was sitting there drinking my coffee and reading the paper, I was vaguely
aware of a woman and her child coming to sit at the next table. I did not pay much attention
to them, though, and when my flight was called I reached for my case and left.

An hour later, the plane was in the air and I decided to look at the conference
programme to see what I wanted to attend. Imagine my horror when I opened the case and
found it was full of picture books and children’s toys—and imagine what the woman must
have thought about a case full of men’s clothes and scientific papers!

Questions 11 to 13 are based on the passage you have just heard.

11. Why did the speaker go to a cafe?

12. What was in the speaker’s case?

13. What did the speaker find out on board the plane?

1. B 28 BY #%# C. He felt thirsty and wanted some coffee. XL FR—NEW
BRA45E. EM A. He wanted to find a place to read his papers. R
RAEZULTEE ek 50y BT H BMAY. %I D. He went there to
meet his friends. REREBEHFRZ,

[(EWm¥R] B

[R% 591 &% B. He wanted to kill time before boarding the plane. (£ & #L3%
B E)EKRRLEE—4 As the flight was not due to board for 45
minutes, I went to a cafe, sat down, and ordered a cup of coffee. #4%
Pk,

12. (B 2€ X1 #%# B. Important documents. , R TFREXHEIH scientific

papers FIZ M+ A9 documents EHE T .

(EMEXE] D

[RER Y] EALERLRH D Clothes and scientific papers. X R M B LK S —
4)...imagine what the woman must have thought about a case full of
men’s clothes and scientific papers! 11 % 4& 4% # the woman & HFix
BMERTHRIEERY,

13. [ 2@ E) 3% A. The woman took his case on purpose. H1B. All his papers had
been stolen. LUK %M D. The woman played a joke on him. £ [E &
RBEERR, FUART UL,

[EMEE] _C

€3 -8 o BV iiéi{!ﬂ #) Imagine my horror when I opened the case and
found it was full of picture books and children’s toys... VAR .4k

ETEMELXRGA L EHH T A the woman T, L%
% A C. He had taken the woman's case,




* 8- A2 E BRI IR KRR

Passage Two

Questions 14 to 16 are based on the passage you have just heard.
A. The liberation movements of British women.

B. Rapid economic development in Britain.
C. Changing attitudes to family life.

D. Reasons for changes in family life in Britain.
A. Because millions of men died in the war.

B. Because women had proved their worth.
C. Because women were more skillful than men.

D. Because factories preferred to employ women.

A. The concept of “the family”as a social unit.

B. The attitudes to birth control.
C. The attitudes to religion.
D. The ideas of authority and tradition.

&AL

There are many reasons why family life in Britain has changed so much in the last fifty
years. The liberation of women in the early part of the twentieth century and the social and
economic effects of World War II had a great impact on traditional family life. Women
became essential to industry and the professions. During the war they had worked in
factories and proved their worth, now, with the loss of millions of men, their services were
indispensable to the nation.

More recently, great advances in scientific knowledge, and particularly in medicine,
have had enormous social consequences. Children are better cared for and are far healthier.
Infant death rate is low. Above all, parents can now plan the size of their family if they
wish through more effective means of birth control.

Different attitudes to religion, authority and tradition generally have also greatly
contributed to changes in family life. But these developments have affected all aspects of
society. It is particularly interesting to note that the concept of “the family” as a social unit
has survived all these challenges.

Questions 14 to 16 are based on the passage you have just heard.

14. What is this passage mainly about?

15. Why did British women became indispensable to industry after World War 117

16. What remained unchanged in spite of all the challenges to family life?

14. (R 28 X1 M A. The liberation movements of British women. FI#tXi B. Rapid
economic development in Britain. LI & ¥ 3 C. Changing attitudes to
family life. MEBREET UL EH, B EEEXEN T

=
(=




[iE & ¥ ®]
2 T8

15. (KX 2€ K]

(i # % X1
(5% % X 9 ]

16. (B 2€ X))
[E % & %)

€3 F & 9

Passage Three

Part I  Listening Comprehension e g

D
MRAXEZMPEL., EALZEARR D Reasons for changes in family life
in Britain. % % 5 % *t & X 3k — €] 7% There are many reasons why
family life in Britain has changed so much in the last fifty years. & i%
#, ALETHORAF TR TH AR,
3% #% B. Because women had proved their worth, S AR BREHLR Y
AAI R A3 I IRE,
A _
® X fm P Bk sk . AR X During the war they had worked in
factories and proved their worth, now (=¥ % &), with the loss of
millions of men, their services were indispensable to the nation. 7 1%
Al BAk AR PE NI GHsH,HENT § TG H4E, F £ K
AN B Sy K B AT SRS M A R 69 R B 2 & F the loss of millions
of men(MEH FAREES), it H A. Because millions of men
died in the war. R ERE R,
®HW B.C.D AFAREAE.
_A
MANAABEGEMR ST, AL X KB — ¢ It is particularly
interesting to note that the concept of “the family” as a social unit has
survived all these challenges. vl 4& £ it A. The concept of “the
family”as a social unit. 2 EREXE.

Questions 17 to 20 are based on the passage you have just heard.
A. Those who are themselves spoiled and self-centered.

B. Those who expected to have several children but could only have one.

C. Those who like to give expensive jewels to their children.

D. Those who give birth to their only children when they are below 30.

A. Because their parents want them to share the family burden.

B. Because their parents are too strict with them in their education.

C. Because they have nobody to play with.

D. Because their parents want them to grow up as fast as possible.

A. Two types of only children.

B. Parents’ responsibilities.

C. The necessity of family planning.

D. The relationship between parents and children.
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A. They have no sisters or brothers.

B. They are overprotected by their parents.
C. Their parents expect too much of them.

D. Their parents often punish them for minor faults.

XhAEX

The key question for any only child is this: why were you an only child? It’s a key
question for at least two rcasons. If your parents had wanted several children but could have
you only, they are most likely to pour into you all the energy and attention that had been
intended for several children. T call this the “special jewel” phenomenon. Only children who
are special jewels often arrive when their parents are older—usually in their thirties. These
special jewels can become very spoiled and self-centered.

On the other hand, you may be an only child because your parents planned for only one
and stuck to their plan. Your parents may give you a very strict and well-structured
education to make you “a little adult”. Many only children grow up feeling unhappy because
they always had to be such “little adults”.

Questions 17 to 20 are based on the passage you have just heard.

17. Who are likely to treat only children as “special jewels”?

18. Why do some only children become®“little adults”?

19. What does the passage mainly discuss?

20. Why do some only children feel unhappy?

17. [ 2€ ] # B D. Those who give birth to their only children when they are
below 30, @] §t & M B 3 Only children who are special jewels often
arrive when their parents are older—usually in their thirties. 443 #i.78
T, B8 T %M D & below 30 5E 3 in their thirties 76
FX EHET.,

[(EmEXR] B

[EAES]) MNiXSwmPELGEMA, WAL If your parents had wanted several
children but could have you only, they are most likely to pour into you
all the energy and attention that had been intended for several children.
I call this the “special jewel”phenomenon. T2 & 5, % = & F # this
Rt E—é) thtis, B it AR B. Those who expected 1o have several
children but could only have one. £ EH L%,

18. [ 2€ X1 3% C. Because they have nobody to play with, X R E M b{IERH

MERXERFRARR T M OEREN,
[(E®#EXR]I _B

[(EHR) MEAamF 1L RAEM, MR X Your parents may give you a very
strict and well-structured education to make you “a little adult”. X &
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, it M B. Because their parents are too strict with them in their
education. RERE R,
19. [FiX 2€ X1 4% D. The relationship between parents and children, B X9 £
B ERZEXRRTREFLHEE.
(EmER] A
[(BE ] EHRERLAAA. Two types of only children. BH AL A X TAHH
LFREFABTFHARLE A B FINOBREF R REXAT
AL BEARUTAE—ARF AR TAARERLEER,
20. [EZi 2€ ] %% B. They are overprotected by their parents. R85 B% X % —
MEFLHRA.
[EMmER] C
(8] MEXKE— 4 i Many only children grow up feeling unhappy
because they always had to be such “ little adults”. TAA ik A C.
Their parents expect too much of them. £ ERE R, ik ¥4 too
much Fe K 2 49 had to be such “ little adults”),k:ﬁ&-xzta‘r,ﬂ o) %
¥r—AL1%E,

Section C Compound Dictation (1997. 6)

Directions: I'n this section, you will hear a passage three times. When the passage is read for
the first time, you should listen care fully for its general idea. Then listen to the
passage again. When the passage is read for the second time, you are required to
fill in the blanks numbered from S1 to ST with the exact words you have just
heard. For blanks numbered from S8 to S10 you are required to fill in the missing
information. You can either use the exact words You have just heard or write
down the main points in your own words. Finally, when the passage is read for
the third time, you should check what you have written.

In police work, you can never predict the next crime or problem. No working day is
identical to any other, so there is no “(S1) "day for a police officer. Some days are
(S2) slow, and the job is (S3) ; other days are so busy that there is no
time to eat. I think I can (S4) police work in one word; (S5)

Sometimes it’s dangerous. One day, for example, I was working undercover; that is, I was

on the job, but I was wearing (S6) clothes, not my police (S7) . Iwas

trying to catch some robbers who were stealing money from people as they walked down the

street. Suddenly, (S8)

Another policeman arrived, and together, we arrested

three of the men; but the other four ran away. Another day, 1 helped a woman who was

going to have a baby. (S9)




